C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
1) A racewas 863 meters. If 15 people ran in the marathon how many meters would they
have run total ? 1
2.
2) A gas station sells 390 gallons of gas an hour. How much gas would they have sold after
39 hours? 3.
4.
3) A charity fundraiser charges 437 dollars per plate. If there are 92 guests at the fundraiser,
how much money did they earn? 5.
6.
4) Each day 224 new apps are uploaded to aweb server. After 68 days, how many apps
would have been uploaded? 7.
8.
5) A cruise ship compartment can hold 811 pieces of luggage. If a ship had 45 compartments,
how many pieces of luggage can it hold? 9.
10.

6) A golf course driving range goes through 253 golf balls a day. How many golf balls would
they go through in 89 days?

7) Theice machinein the lobby of a hotel makes 158 pieces of ice aday. How much ice
would it have made if it ran for 41 days?

8) A coat manufacturer puts 420 coatsin a shipment. If they sent out 21 shipments, how
many coats would they have sent out?

9) A candy store had 887 empty shelves. If each shelf can hold 47 pieces of candy, how many
pieces would they need total to fill up all the shelves?

10) If anindustrial machine could make 645 pencilsin a second, how many pencils would it
have made in 51 seconds?
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Ch Finding Product (3 x 2) Name: Answer Key

Solve each problem. Answers
1) A racewas 863 meters. If 15 people ran in the marathon how many meters would they
have run total ? 1 12,945
2. 15,210
2) A gas station sells 390 gallons of gas an hour. How much gas would they have sold after
39 hours? 3 40,204
4. 15,232
3) A charity fundraiser charges 437 dollars per plate. If there are 92 guests at the fundraiser,
how much money did they earn? 5. 36,495
6. 22,517
4) Each day 224 new apps are uploaded to aweb server. After 68 days, how many apps
would have been uploaded? 7. 6,478
8. 8,820
5) A cruise ship compartment can hold 811 pieces of luggage. If a ship had 45 compartments,
how many pieces of luggage can it hold? 9. 41,689
10. 32,895

6) A golf course driving range goes through 253 golf balls a day. How many golf balls would
they go through in 89 days?

7) Theice machinein the lobby of a hotel makes 158 pieces of ice aday. How much ice
would it have made if it ran for 41 days?

8) A coat manufacturer puts 420 coatsin a shipment. If they sent out 21 shipments, how
many coats would they have sent out?

9) A candy store had 887 empty shelves. If each shelf can hold 47 pieces of candy, how many
pieces would they need total to fill up all the shelves?

10) If anindustrial machine could make 645 pencilsin a second, how many pencils would it
have made in 51 seconds?
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C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
41,689 15,210 32,895 15,232 6,478
40,204 36,495 12,945 8,820 22,517 1.
1) A race was 863 meters. If 15 people ran in the marathon how many meters would they 5
have run total? '
3.
2) A gas station sells 390 gallons of gas an hour. How much gas would they have sold after
39 hours? 4.
5.
3) A charity fundraiser charges 437 dollars per plate. If there are 92 guests at the fundraiser,
how much money did they earn? 6.
7.
4) Each day 224 new apps are uploaded to aweb server. After 68 days, how many apps
would have been uploaded? 8.
9.
5) A cruise ship compartment can hold 811 pieces of luggage. If aship had 45 compartments,
how many pieces of luggage can it hold? 10

6) A golf course driving range goes through 253 golf balls a day. How many golf balls would
they go through in 89 days?

7) Theice machinein the lobby of ahotel makes 158 pieces of ice aday. How much ice
would it have madeif it ran for 41 days?

8) A coat manufacturer puts 420 coats in a shipment. If they sent out 21 shipments, how
many coats would they have sent out?

9) A candy store had 887 empty shelves. If each shelf can hold 47 pieces of candy, how many
pieces would they need total to fill up all the shelves?

10) If anindustrial machine could make 645 pencilsin a second, how many pencils would it
have made in 51 seconds?
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